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nodul e flash_ad4(adout, ain, clk);
out put[3: 0] adout;
input ain, clk;
el ectrical [3:0] adout;
electrical ain, clk;

paraneter real

vdd = 3.3, // 0DOo0O0o

vth = 1.65, // DoOooO0ooooo
I ogicl = vdd, // DD0O0O0ooooo
I ogicO = 0.0, // DO0DO0O0OO0O0O0O
vstep = 0.1, // 0DO00O0O0OooOo
trise = 1.0n, // DOoO0o0OO0oooDo
tfall = 1.0n; // O0O0D0OO0OOO0OOOo
real d[O:3]; // ODO00O00

real state[1:16]; // 0000
integer i, j;

real set_bit, rem

anal og begin
@initial _step) begin // O0O0OOOOOOO
state[ 1] = vstep/2;
for (i =2; i <=16; i =i + 1)
state[i] = state[i-1] + vstep;
end

@cross(V(clk) - vth, 1)) begin
for (i =1; i <16; i =i + 1) begin
// O0000o0o0ooOOooooo
if ((state[i]<=V(ain) ) && (V(ain)<state[i+1])) begin
// DO00D0O0OO0O00Oooo
rems=i;
for (j =3;j >=0; j =j - 1) begin
set_bit = rempow2,j);
if (set_bit >= 1) begin
d[j] = vdd;
rem=rem- pow2,j);
end el se
d[j] =0.0;
end
end
end

// 000000 &OD0D00O0ODO
if (V(in) < state[1])
for (j=0; j <=3, ] =] +1)
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d[j] = 0.0;
else if(V(in) > state[16])
for (j=0; j <=3;j =j +1)
d[j] = vdd;
end

V(adout[0]) <+ transition(d[0], 0.0, trise, tfall);

V(adout[1]) <+ transition(d[1], 0.0, trise, tfall);

V(adout[2]) <+ transition(d[2], 0.0, trise, tfall);

V(adout[3]) <+ transition(d[3], 0.0, trise, tfall);
end
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// 00000000 D-ADDOOOOOOD
nmodul e dac(vin, vout);

i nput[size-1:0] vin;

out put vout;

electrical [size-1:0] vin;

el ectrical vout;

par aneter real

size = 2 from (1:inf), // 0000

vhigh = 5.0, // 000000

vth = 2.5, // 000000000

trise = 0 from[O0:inf); // OO0O0O0O0OoOoOOoO

tfall = 0 from[O0:inf); // 0000O0O0OoOOoO
real code;

integer i, pow2[size:0];

anal og begin
@initial_step)
for (i =0; i <=size; i =i +1)
pow2[i] = pow(2,i); // 200000000

// 00DO00OO0OO0O00OooDoOo

code = O;

for (i =0 ; i <size; i =i +1)

code = code + (V(in[i]) > vth) ? pow[i] : O;

V(out) <+ V(vhigh)*transition(code/pow2[size],0,trise,tfall);
end
endnodul e
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11.500 PLL (Phase Locked Loop)
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nodul e pll(ref, fout);
i nput ref;
i nout fout;
electrical ref, fout;
paraneter integer divide_num = 4;

pfd xpfd(pfdout, div_out, ref);

filter xfilter(pfdout);

vco xvco(fout, pfdout);

di vi der #(.count(divide_nunm)) xdivide(div_out, fout);
endnodul e
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modul e pfd(out, fin, refclk);
inout out, fin, refclk;
electrical out, fin, refclk;

paraneter real
igain = 15u, // PFDOODO
rout = 2e6, // O000O00O0D0OO0

vdd = 5.0, // 0000
ttol = 1p, // 00000
td = 0, // 000000
tt=2p; // D0D00D00O0/0000000

paraneter integer dir = 1; // 1(0000O0),-1(00000), ooooO)
integer state; // 0O00OO0O

anal og begin
// D000000000000 @ state = -1 (upstate)
@cross((V(refclk) - vdd/2), dir, 1p)) begin
state = state - 1,
end

// veoOOOOoOoO : state = 1 (dnstate)

@cross((V(fin) - vdd/2), dir, 1p)) begin
state = state + 1;

end

if (state > 1) state = 1;
if (state < -1) state = -1;

I (out) <+ transition(state * igain, 0, tt, tt);
I (out) <+ V(out)/rout * abs(state);
end
endnodul e




